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OBIZF- JIFHORIOIE SKRAL HRIMAH|
80,00024+140% 122 134,400
ORI2F - JFHOIRIOIE HAR KWt
30, 0002420+ 122 7,200
OPIZH - JFHOJRIONY ei2bl K
500, 000244220 %131 1,000
OPSDHY YBLg
100, 00024400223 80,000
11 BAAHIXIRZ 25,840 6,650 19,190
OSDH 22Uy 2
3,720,0002423] 7,440

90,0002 *150&*12] 13,500

OBSDAAUS| SA &4 01|

70,0002 +70F+12 4,900
307 212t01& 1,003, 180 1,049,800 246,620
04

DIPFSHATAIRI 2 X 6,400 6,400 0

4,000,00021%25/%80/ 100 6,400
10 AIBIS XA SHESAHIE X 996,780 1,043,400 A46,620
OORIGABS 0121t BX(BXS HoH)
750,000 x4 * 122 36,000
OO{2I0IE BAK Q124H] XI(EXS8 FHH)
500,000 *41J) Ax 122 246,000
OO0{2I0I1Z S4H| XIY(R4ATME Z8)(2X8
HoH) 2,2002%1,710Z»190 714,780
401 Al&H| 2 S HY 40,000 12,000 28,000
01 Al&H] 40,000 12,000 28,000
O=2Z02I01& KX
8,000,000 %57 A 40,000
402 QI2FRH=0|H 24,000 0 24,000
01 QIZERF2 AL 2 AR (RHRITHSY) 24,000 0 24,000
Ogol - 212k - JIEOZI01R JISE2HEXS 60%)
5,000, 0002 *8IH A *60/ 100 24,000
OFS XIS AL 107,214 80,233 26,981
201 L2 A 24,900 22,400 2,500
01 AFRZH2IHI 4,100 2,050 2,050
OIS B
100,000 +624+33] 1,800
OOtS R3] 3|2 SL0H =
60,000&*5% 300
OotsstioY 2228 2
1,000,0002 %23 2,000

03 HAL2EH| 20,800 20,350 450




2A: olSEAEDY
M OISES ISXI(MRSK/ES - IHEL0Y)
Pl OISES ISR (cro): =2l
SA - EHH . E(BH) - HRAY - BES e HIDS2
OOFSSHHoIZSl & AL & OFSSHTHHY 22
2|2l 14,300,0002* 14| 14,300
OXIZHOISHIE OFS BHEIEI0IY SAt 2
6,500,000 % 14! 6,500
301 LpHERZ 10,914 7,833 3,081
02 ANBIERESHZ(FAHS, XLHA) 4,234 3,528 706
OJIH2IE0lS SDu4 NS
2,4002*7H =252 4,234
11 S#ALAHIXI 2 6,680 4,130 2,550
OORI0IE JIESAL &4 01t
90,0002+ 13 180
OXIHOISHIE OFS 3HEHEH0IY SAAHIXI
6,500,000 % 14! 6,500
307 212+l 56,400 40,000 16,400
02 QIZFEAANAIRIE X 12,000 10,000 2,000
OXIZOISHIE S MDA T2 2H(2Xx8
HoH) 12,000, 00084 14! 12,000
04 DIZFHAIAIIE R 44,400 30,000 14,400
OOISEA0Y IXZ SH(EXS 80%)
6,000,000 *12%80/100 4,800
ONEI0IL JIE8AL X (BES 90%)
44,,000,0002%13%90/100 39,600
401 Al&H| LS04 15,000 10,000 5,000
01 Al&Y 15,000 10,000 5,000
OOIS=XIAIE SHZINEH]
5,000, 00094%34] 15,000
O E-CENEREWNEIEESF<INED 13,973 13,566 407
308 XIXISHHISOI& 13,973 13,566 407
07 REXISHHIZIRES 13,973 13,566 407
OZFE AR YME 2% X
13,973,000 % 14} 13,973
OIS EAMBIATMBI 2 SAEKE XA K 3,360 0 3,360
301 LpHEEZ 3,360 0 3,360
02 ABIERESHZ(FAHS, XILH) 3,360 3,360
OOIOISEAHIAKBIIZ BARE XML&
70,0004 %122 3,360
XIS OFSHEIZAKE X M AHIXIZ 12,600 12,600 0
301 LA 12,600 12,600 0
02 ABI2EE45S(HLAHS, XLMR) 12,600 0 12,600
OXIHOLSHIE! ZARE X M&H
50,0002 %212 122 12,600
BNISSHE AR 25,920 25,920 0
307 212+l 25,920 0 25,920
05 RIZtEr2 25,920 0 25,920




dEE
Ofl &b oK

30,000&x72E*12&

25,920

oW

=

190,656
123,926
33,365
33,365

376,544

185,888

mn 1

=

190,656
123,926
33,365
33,365

376,544

185,888

190,656,000 14!

oW

=

190,656
190,656
123,926
33,365
33,365

376,544

185,888

oW

=

6,125,940
3,981,862
1,072,039
1,072,039

3,234,232

2,891,708

oW

6,125,940
3,981,862
1,072,039
1,072,039

3,234,232

2,891,708

6,125,940,0002% 14!

oW

=

6,125,940

6,125,940
3,981,862
1,072,039
1,072,039

3,234,232

2,891,708

()YRoESE X

(0~2A1)

oW

=

4,938,093
3,209,761
864, 166
864, 166

5,840,116

A902,023

oW

4,938,093
3,209,761
864, 166
864, 166

5,840,116

A902,023

4,938,093, 000 14!

4,938,093

4,938,093
3,209,761
864, 166
864, 166

5,840,116

902,023

(2 AZHEST

292,888

324,008

231,120




SA: OFSHAED
M OS2SR IEXNF(ASSN/ES - IHEL0A)
©e: OI=ES JIEX (Crel: & 2l)
SH - EHH . O(3) - NRAIY - B Ofl st e RS2
=2 146,444
= 73,222
Al 73,222
307 BI2H0|& 292,883 324,008 A31,120
2 146,444
[ 73,222
Al 73,222
EENNEEEEEIEES 292,888 324,008 31,120
OAIZHES RHZ o2l0l& Xig
292,888,000 * 14! 292,883
2 146,444
[ 73,222
Al 73,222
()PS0 02| A 5,367,171 4,463,258 903,913
2 2,683,585
[ 1,341,793
Al 1,341,793
307 QI2H0| & 5,367,171 4,463,258 903,913
2 2,683,585
[ 1,341,793
Al 1,341,793
N EENNEEEEETIEES 5,367,171 4,463,258 903,913
OBSDE 0124H| X
5,234,867, 00021% 14! 5,234,867
2 2,617,433
[ 1,308,717
Al 1,308,717
OAIZFHIZS DAL 0124H] X
132,304, 00021 * 14! 132,304
2 66, 152
[ 33,076
Al 33,076
(2)SSDAH2ML X 724,721 718,095 6.6%6
2 362,361
[ 181,180
Al 181,180
301 LEtE A 724,721 718,095 6,626
2 362,361
= 181,180
Al 181,180
01 AL BRASGZ2(2DEXHL) 724,721 718,095 6,626
OWAIZ 224 X
627,253,000 * 14! 627,253
2 313,627




sy SHRE=+<ENE ]
HH: OI=ES IIEXA(ABIEX/ES - IHELHA)
Pl OISES ISR (CHol: X 2)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
= 156,813
Al 156,813
OSZEE|UA SE2249 X
97,468,000 x 14! 97,468
= 48,734
[ 24,367
Al 24,367
(2)0{210/1& BXnA+ X 1,161,433 1,103,365 58,068
= 580,717
[ 290,358
Al 290,358
307 @120 & 1,161,433 1,103,365 58,068
= 580,717
[ 290,358
Al 290,358
10 AIBIS XA EHAESAHIE X 1,161,433 1,103,365 58,068
O2ZWAI XN (HEES M WAL L&)
,104,053,0002 % 14! 1,104,053
= 552,027
[ 276,013
Al 276,013
OUMMmAF X1 57,380,000 %1 A 57,380
= 28,690
[ 14,345
Al 14,345
(2)02I01E 29X« 56,736 53,654 3,082
= 28,368
[ 14,184
Al 14,184
307 QI2t0| & 56,736 53,654 3,082
= 28,368
[ 14,184
Al 14,184
10 ALBIS XA SHAESAHIE X 56,736 53,654 3,082
O w4l XI& 15,040,000 x 1Al 15,040
= 7,520
[ 3,760
Al 3,760
Oxte23dl X2 37,076,000 % 14! 37,076
= 18,538
[ 9,269
Al 9,269
OSHEATHERI0{RI0IE XIH
4,620,000 x 14! 4,620




2M: OtSEAED
M OISER IEKAMISX/ES - IEL0HA)
&P OlsSER JIEXE (Crel: & 2l)
2B O9I(3H) - HRAR - BAS 0l ko e HIDS2
= 2,310
& 1,155
Al 1,155
(Z)oroIE=C0| XNY(22AI12) 600,706 521,368 79,338
| 148,537
& 31,675
Al 420,494
307 SI2t01 & 600,706 521,368 79,338
J| 148,537
= 31,675
Al 420,494
10 AFRISXAEHE2IHIES 600,706 521,368 79,338
O0r0IB==20! X
600,706,000 14! 600,706
J| 148,537
= 31,675
Al 420,494
(Z)0eloly &ZIE(XISEHI) 42,000 0 42,000
= 21,000
= 6,300
Al 14,700
402 QI2EXHE01 A 42,000 0 42,000
= 21,000
= 6,300
Al 14,700
02 QIZFXIEAILE X (01X THE) 42,000 0 42,000
Oojelold sl 42,000,000 %14l 42,000
= 21,000
& 6,300
Al 14,700
(=)ot0l==X 2,543,000 2,184,825 358,175
= 1,780,100
& 228,870
Al 534,030
307 SI2t01 & 2,543,000 2,184,825 358,175
= 1,780,100
& 228,870
Al 534,030
05 RIZIRIE = 2,543,000 2,184,825 358,175
Oootol=s A 2,543,000, 0002 * 14! 2,543,000
= 1,780,100
& 228,870
Al 534,030




SN OtsEAdn

BH: OISES SN (ABISN/ES - ISL01A)

S9l: OlSES JIEAR (cio: x5
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
()X orsHH 298 A& 170,216 188,906 218,690

= 85,108
= 25,532
Al 59,576
307 212t01 ™ 170,216 188,906 /18,690
= 85,108
= 25,532
Al 59,576
10 ASISAANEHE2EEIEX 170,216 188,906 /18,690
OXYotsdH JlE28d! X
159,816, 00021 14! 159,816
= 79,908
= 23,972
Al 55,936
OXNS0tsdH =)k=gdl Nd
10,400,000+ 14 10,400
= 5,200
= 1,560
Al 3,640
(2)XS0tsHEH elAd| X 795,930 737,372 58,558
= 397,965
= 119,390
Al 278,575
307 212t01 ™ 795,930 737,372 58,558
= 397,965
& 119,390
Al 278,575
10 AlRIS XA EEE 282X 795,930 737,372 58,558
OXIY0tsHIE el2dd] X (DIELH)
715,680,000 * 14| 715,680
= 357,840
& 107,352
Al 250,488
OXIY0tsHIE el2dd] X (o)
80,250,000 * 14| 80,250
= 40,125
= 12,038
Al 28,087
(R)SHE XNAotsHEH FIOHKR 28,800 22,320 6,480
= 14,400
& 7,200
Al 7,200
307 2I2+0| ™ 28,800 22,320 6,480
= 14,400




SHEAEL
S8EE IEXNAAN=SX/BS - IIBFLHE)
SEF JIEXA (che]: X Sl)
SA - EHH . E(BH) - HRAY - BES e HIDS2
= 7,200
Al 7,200
10 AFRISXAEHE2IHIES 28,800 22,320 6,480
S+58g XG0tsdlE Fot XA
28,800,000 *14] 28,800
= 14,400
= 7,200
Al 7,200
(=2)0I=sE23d20 |2 2F X 214,875 202,042 12,833
= 92,39%
= 27,934
Al 94,545
307 QI2H0| M 214,875 202,042 12,833
= 92,39%
& 27,934
Al 4,545
10 AR SXNAIEEE2IHIE X 214,875 202,042 12,833
OXGtsE2sdE2I|2 29 K&
214,875,000& %14 214,875
= 92,39%
& 27,934
Al 4,545
(Z)OIS2LERIAAHEXIA 428,803 168,742 260,061
= 300, 162
& 38,592
Al 90,049
301 LEEBHZ 428,803 168,742 260,061
= 300, 162
& 38,592
Al 90,049
01 AISIBEEGI2(2DETNS) 428,803 168,742 260,061
OOtsZLEX2AAHE XA
428,803,000 *14! 428,803
= 300, 162
= 38,592
Al 90,049
=) LAoSIIEXE 45,872 60,600 A14,728
| 32,111
= 4,128
Al 9,633
301 Ler2d&3 45,872 60,600 A14,728
| 32,111
= 4,128
Al 9,633




2A: OtsEAE
Hu: 0IS2S SNV (MSZX/2S - HEL0IA)
ce: ot=Es JIEXH (Crel: & 2l)
SN B O(3H) - MBEAR - BAS Ofl ko e MMimE="
01 AR 2& XN L6 2 (2D EXTHS) 45,872 60,600 N14,728
OYUAOIE UF4L 45,172, 0002 14! 45172
J| 31,621
& 4,065
Al 9,486
Ot 27 N
700,000&*1H 700
J| 490
o= 63
Al 147
(2)ot=2x==X& 3,981,818 4,357,720 N375,902
= 2,787,272
& 358,364
Al 836, 182
301 EBXZ 3,981,818 4,357,720 A375,902
= 2,787,272
& 358,364
Al 836, 182
01 AFSIE&EAHS2(2DEXTHL) 3,981,818 4,357,720 A375,902
Oots==Y 20 K=
3,981,818,000&x 14 3,981,818
= 2,787,272
& 358,364
Al 836, 182
(R)EBSE20ISAHE SR 39,973 38,400 1,573
= 31,979
& 2,398
Al 5,596
301 YEBXZ 39,973 38,400 1,573
= 31,979
= 2,398
Al 5,596
01 AR 2N L6 2(Z2DEXTHS) 39,973 38,400 1,573
OBSE=0ts NG X3
39,973,000& x 14! 39,973
= 31,979
= 2,398
Al 5,596
(Z)CesEs2gxd 38,880 40,000 A1,120
rag 18,000
= 5,400
Al 12,600
= 2,880
307 Q120X 38,880 0 38,830




dEE
Ofl &b oK

o

=

44

18,000
5,400
12,600
2,880

12,000, 0003 *3H 2

S| FXE2H|

240,000& 122

ARREY

44

38,880

36,000
18,000

5,400
12,600

2,880
2,880

ARREY

=

237,456
118,728
35,618
83,110

238,280

N84

307 212+01&

o

237,456
118,728
35,618
83,110

237,456

237,456, 00024 14!

o

=

237,456

237,456
118,728
35,618
83,110

237,456

o

=

44

10,882
4,000
300
700
5,882

25,920

ARREY

=

4

8,190
2,000
150
350
5,690

25,920

01 AlR-2teld

OEs0ts It

24l

2,500,00021*14!

o

7,200

2,500
2,000
150
350

A3,750




SM: OFSHAEDL
H: OISES IENY(AE2X/ES - IHEL0A)
S olsEE JIEXE (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
SPEREIPIEEY
100,000 x5 %73 3,500
= 3,500
OOLSSITY Atgtal 2|
100,00021% 122 1,200
= 1,200
02 =29 990 3,160 A2,170
OPE SHXS 22
41, 25021%20H* 122 990
= 990
307 QI2H0| & 2,69 2,692 0
2 2,000
= 150
Al 350
= 192
01 22 ¢ 3=t 2,692 2,692 0
022t ¥ REH| 2,500, 00024% 14l 2,500
2 2,000
[ 150
Al 350
O250E 2A| 8,00021+2% 122 192
= 192
(VXN HCAEIE SESAZ2INA 137,227 168,934 A31,707
2 109,782
= 8,233
Al 19,212
201 LBr2 | 60,792 62,200 1,408
2 48,634
= 3,647
Al 8,511
01 ALR2r2lH] 25,192 34,000 /8,808
OSEAEE 29| 700,000 %12 8,400
2 6,720
[ 504
Al 1,176
O2HAS|, OISZXD 2N & 4ct
100,0002+82 53] 4,000
2 3,200
= 240
Al 560
QEAHHIOIN 4&
200,000+ 1H+53] 1,000
2 800
= 60




2N OFSEAED
MM OIS IEX(MEEX/2S - IELHL)
S olsEE JIEXE (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
A 140
O#IHHIA 2| 1,000,008+ 14} 1,000
o 800
= 60
Al 140
OSRAEE E22E ¢
5,000, 00024% 14! 5,000
o 4,000
=S 300
Al 700
OSRIAEIE HRER AIQI22X 24!
8,000 *3x9LU* 122 2,592
7 2,074
& 155
Al 363
OSRIAEIE SEEDAIAH &AL
700,000 %13 700
7 560
=S 42
Al 98
OSRAEIE 2y NS
2000002445 1,000
7 800
=S 60
Al 140
OSRAEIE 938 2i|
250, 0002 6% 1,500
7 1,200
=S 90
Al 210
02 222%H| 9,600 7,200 2,400
OCEAEIE Zz2o|
800,00024% 128 9,600
7 7.680
= 576
Al 1,344
03 A2 26,000 21,000 5,000
OSEIAEIE S35HHIE Al
26,000,000 %1 4! 26,000
o 20,800
= 1,560
Al 3,640
202 OiH] 7,560 5,400 2,160
o 6,048
= 454




2A:
X ZH
S

S LRE-ER

SHRASIA) - MIRAIY - BES

PIE]=>
e

Al

1,058

01 =LHOII

OOtsSE At Z2IAHE R

OOtsSE At Z2IAHE R

) 2Lfoid
150,000 R1+3H* 122

&) 220
120,000& 3 +6L

SRR

=

SRR

=

7,560

5,400
4,320
324
756

2,160
1,728
130
302

5,400

2,160

SRR

58,875
47,100
3,532
8,243

75,500

A16,625

01 Al2l2&H

—
—_

14 J|Et2 8=

OEEARE

OEEARE

A
.

OESARE &

da(=1

HAIAHIXIR S
OZ20% H0! 0t

1T

42,875,000 14

S 2t & E/A!HI

250,000 *42]

D28 2 HA=eE

1,000,000 «2& 62

Mo

=

Mo

Mo

=

42,875

42,875
34,300
2,572
6,003
4,000

3,000
2,400
180
420

1,000
800
60

12,000

12,000
9,600
720
1,680

42,000

7,500

26,000

875

23,500

14,000

307 212t01&

Mo

10,000
8,000
600
1,400

25,834

A15,834

01

10
U

=
ton

Al

J

10,000

24,400

214,400




Ors&EAadE
OISER JIIEXE(MAISX/ 2=
Ols2=s JISXE

HEE

2A - HH - H(SH) - MRAIY - BES Ol AkoH Ol Ak ol Hlns2
OCS2IAEIE °|2H| X
500, 0004103 5,000
2 4,000
(= 300
Al 700
OCEAEIE AMRIXIZHAL 2 XIBH X
250, 00024203 5,000
= 4,000
(= 300
Al 700
(D) EHHACA 2 123,000 120,000 3,000
(= 24,000
Al 96,000
= 3,000
307 SI2H0|® 123,000 120,000 3,000
(= 24,000
Al 96,000
= 3,000
05 QIZRIEFS 123,000 0 123,000
Ot 29 123,000,000 * 14! 123,000
(= 24,000
Al 96,000
= 3,000
(Z)FAZFEA5} 4,411,565 4,485,367 N73,802
(= 3,516,880
Al 894,685
301 YEEES 3,718,528 3,937,984 A219,456
(= 3,350,376
Al 368, 152
02 AISISEE AT S(FSHS, NUW) 3,718,528 0 3,718,528
OFelnt# 3,258,283, 0002 * 14! 3,258,288
[ 3,258,288
OLI-SNR2REEER X2
459,840,000 x 14! 459,840
(= 91,968
Al 367,872
OEK0ts HOEI|I A&
400,000 14! 400
[ 120
Al 280
307 SI2H0|® 693,037 547,383 145,654
(= 166,504
Al 526,533
10 AFRISTIALSHERAHIE X 251,387 239,615 1,772




SHAED
=282 IEX(MIEX/ES - HELHA)
SE8 IIEXY (il =)
SN - BE - BR(3) - NRAY - BaS e HIDE2
OXO{OISOI20IY UARE
100,000 24 *3% 300
[ %0
Al 210
OE=0ts 2] 200,000,0002*14! 200,000
= 60,000
Al 140,000
OO01RI0IX XS
5,800,0002* 14l 5,800
[ 1,740
Al 4,060
OCI231012101% Xtereg|
13,977,00020% 141 13,977
= 4,194
Al 9,783
OO0RI0IX B2
25,310,00020% 14! 25,310
[ 7.600
Al 17,710
OOIRI0IX OHE ZHIEIH|
6.000,00021* 14! 6,000
= 1,800
Al 4,200
11 ABI=XIALY 441,650 307,768 133,882
EF0ts 24 EHl XA
27,500,00024% 141 27,500
[ 8,250
Al 19,250
OOIRI0IZZ0tEr 22| XI2
414,150,000 2% 14! 414,150
= 82,830
Al 331,320
BEEREEEPEST 433,920 432,000 1,920
[ 129,984
Al 303,936
301 LEtEAEZ 433,920 432,000 1,920
[ 129,984
Al 303,936
02 AFBI SRR 2(FLHE, XLH) 433,920 0 433,920
OSSN £ 432,000,000 % 14! 432,000
= 129,600
Al 302,400
OXNjolESDRS SHag K|
1,920,000 %1 4! 1,920
[ 384




SN OtsEAdn
BH: OISES SN (ABISN/ES - ISL01A)
S9l: OlSES JIEAR (cio: x5
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
| Al 1,536
(2)33E02I018 X3 (HEAY) 434,091 413,000 21,091
= 382,000
Al 52,091
307 212t01 ™ 434,001 413,000 21,091
& 382,000
Al 52,091
10 AlRIS XA EEE 282X 434,091 413,000 21,091
OZTHOI01E X2
434,001,000 x14] 434,001
& 382,000
Al 52,091
(E)sHESHANGES AR 118,690 118,690 0
= 35,610
Al 83,080
301 Et2AS 118,690 118,690 0
& 35,610
Al 83,080
02 ALRI2EE LGS (FIAAS, XL 118,690 0 118,690
OS0ESHANALS DA K2
118,690, 00021 %1 4! 118,690
& 35,610
Al 83,080
(2)0=0ld gnsny sig=294| XId 79,200 0 79,200
= 31,680
Al 47,520
307 212t01 ™ 79,200 0 79,200
& 31,680
Al 47,520
10 AlRIS XA EEE2EH 2 X 79,200 0 79,200
OOlRIOIE YUSIH 22y N
79,200, 00024 14! 79,200
& 31,680
Al 47,520
(Z)0El0lE 22| XA 528,400 58,900 469,500
= 211,360
Al 317,040
307 212t01 ™ 528,400 58,900 469,500
= 211,360
Al 317,040
10 ASISAANEHE2EEIEX 528,400 58,900 469,500
OO0el0lY 2244l A&
528,400,000 14! 528,400
& 211,360




SN OtsEAdn
BH: OISES SN (ABISN/ES - ISL01A)
o9l OlEES JEXE (cio) msl)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
| Al 317,040
(Z)0HISER2RESEZ 800,000 700,000 100,000
= 320,000
Al 480,000
307 212t01 ™ 800,000 700,000 100,000
& 320,000
Al 480,000
11 MBS AIAMEE X 800,000 700,000 100,000
OVWEEEI=EI==EET
800,000,000 14! 800,000
& 320,000
Al 480,000
(Z)FOIELHNSTEO0ISE0IXIZ 12,000 12,000 0
= 3,600
Al 8,400
307 212t01 ™ 12,000 12,000 0
& 3,600
Al 8,400
11 AMBISAIAMEE X 12,000 12,000 0
OYOIELHSHLO0IS 20| X2
12,000, 00024 14! 12,000
& 3,600
Al 8,400
(D) XHotSHEEESRIA 29,800 22,400 7,400
= 8,940
Al 20,860
307 212t01 ™ 29,800 22,400 7,400
& 8,940
Al 20,860
ARISXAEEIE 22X 29,800 0 29,800
OXNS0tSHE ditd] X2
6,000,000 14! 6,000
& 1,800
Al 4,200
OXIS0otsSHEH XelAt elAd] X
7,800,000 14 7,800
= 2,340
Al 5,460
OXIS0tsHE Stz 18 X2
16,000,000&!*14] 16,000
& 4,800
Al 11,200
(Z)XS0tSHEHLIHAHIZ=IHKIR 249,346 168,332 81,014
= 74,805




sy SHRE=+<ENE ]
HM: OS2SR IENH(ABIEX/ES - IEL0A)
Pl OISES ISR (CHol: X 2)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
Al 174,541
301 YEHEAS 35,280 89,179 53,899
[ 10,584
Al 24,696
02 AR BEESFHS(FLHS, NLHR) 35,280 89,179 53,899
OSAA=E 35,280,000 % 14! 35,280
[ 10,584
Al 24,696
307 2I2H0| & 214,066 79,153 134,913
[ 64,221
Al 149,845
10 AIBISXAIEHE2HHIEX 211,466 79,153 132,313
OZAHF QIH| It X
156,365,000 %14 156,365
[ 46,910
Al 109,455
OZESIHI 41,385,000 %14l 41,385
[ 12,416
Al 28,969
ON&ELY 13,716,0002 % 14! 13,716
[ 4,115
Al 9,601
11 ALBIEXAIRIER 2,600 0 2,600
OZA SXHEQIE X (HEE, MS=TAL)
100,000 %26H 2,600
[ 780
Al 1,820
BRENEERE 45,216 40,950 4,266
[ 13,565
Al 31,651
307 2I2H0| & 45,216 40,950 4,266
[ 13,565
Al 31,651
10 ALBIS XA EHAESAHIE X 45,216 40,950 4,266
OLAESAIE 29| X
45,216,0002* 14! 45,216
[ 13,565
Al 31,651
(S)XAO=EESHII |22 X2 24,754 23,611 1,143
[ 7,426
Al 17,328
307 2I2H0| & 24,754 23,611 1,143
[ 7.426

Al 17,328




A OtsEAE
Hu: OISES JIEXS(MSIZX/2S - ISL0A)
&2 OlsESs JIEXE (Crel: & 2l)
2B O9I(3H) - HRAR - BAS 0l ko e HIDS2
10 AISISXAEEHER2IHIES 24,754 23,611 1,143
OXYGotsEsdZI & 28 A&
24,754, 0003 *14] 24,754
= 7,426
Al 17,328
(D)FHAAHBISHEEY 80,980 72,240 8,740
& 12,774
Al 68,206
301 LBIEN S 80,980 72,240 8,740
= 12,774
Al 68,206
02 A BEELHS(FLHS, KEWHA) 80,980 0 80,930
OIFERIE S N
300,0002/* 16 %122 57,600
= 5,760
Al 51,840
OFAAHB0ts K& 3,380,000 %14l 3,380
& 1,014
Al 2,366
OJIIEREIBSTZ0ts AEE=EZ2 X
10,000, 000& 2% 20,000
= 6,000
Al 14,000
(D)ZA oS24 X3 1,960,875 1,766,000 194,875
& 769,972
Al 1,190,903
301 LBIEN = 1,960,875 1,766,000 194,875
& 769,972
Al 1,190,903
02 ANSIBEE4GS(FAAHS, KILTHE) 1,960,875 0 1,960,875
Oshs EB5Y =4
572,850,000& * 14 572,850
= 572,850
ogss =4 583,200,000 * 14! 583,200
= 116,640
Al 466,560
OXSGotsHH s =4 A
804,825,000& * 14 804,825
& 80,482
Al 724,343
(Z)0IS==SH2YXE 180,247 165,503 14,744
& 54,074
Al 126,173

301 LEEES 10,080 21,440 211,360




SN OtsEAdn
BH: OISES SN (ABISN/ES - ISL01A)
S9l: OlSES JIEAR (cio: x5
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
& 3,024
Al 7,056
02 ALRI2EE LGS (FIAAS, NLTH) 10,080 10,080
OZ ALK& 10,080, 00024 14! 10,080
& 3,024
Al 7,056
307 212t01 ™ 170,167 170,167
= 51,050
Al 19,117
05 RIZI?I& = 169,567 169,567
OHMIEIZ Z=J10124H] 22,752,0002 14! 22,752
= 6,826
Al 15,926
ORCIUI0IE IRl
112,908,000 14! 112,908
& 33,872
Al 79,036
OArH| 6,000,002 <3714 18,000
= 5,400
Al 12,600
OYEsY, IIEssY 15,907,000 %1 A! 15,907
& 4,772
Al 11,135
11 ARRISXIMEEES 600 600
OBARL SXEQIE XIJA(MEZ, 2OIUI0]
B) 100,000 *6% 600
= 180
Al 420
AR0t ME 2SSS MHIA(XLAZUHSIIZ) 63,200 63,200
CH 63,200
307 212t01 ™ 63,200 63,200
CH 63,200
10 AlRIS XA EEE 2SI 2 X 63,200 63,200
OFY ORI0IE 2 NA(BEE F)
63,200,0002% 14! 63,200
CH 63,200
Lcl0t0] Bt ZZ2ME(XLASBUSII3) 150,000 150,000
CH 150,000
201 28t=3| 150,000 150,000
CH 150,000
03 A2 150,000 150,000
OOotol! AlLt HAEE 29
110,000,000 * 14| 110,000
CH 110,000




2 OlSHEAED
HH: OI=ES IIEXA(ABIEX/ES - IHELHA)
Pl OISES ISR (CHol: X 2)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
SEEEEEERS 20,000,0002* 14! 20,000
cH 20,000
Os2ez tlz==0| 20,000,000 %1 A! 20,000
cH 20,000
HAH S5 U BS(ASEX/L0 - HAH) 1,868,463 1,764,456 104,007
= 37,296
7l 399,821
[ 147,656
Al 1,177,890
cH 36,800
= 69,000
HAE |4 1,868,463 1,764,456 104,007
= 37,296
7l 399,821
[ 147,656
Al 1,177,890
cH 36,800
= 69,000
HAE 2AE 29 435,892 484,247 148,355
101 Q124 95,29 88,541 6,755
M IIHR22ISES 95,29 88,541 6,755
OFHZ AR Q12U (OHKI B AHOHE)
150,000 +2H*40 U+ 13 12,000
ORYEX ISRU(HAERSTIAY 1&) 26, 150
—Jlg= 78,8802+ 1242602 20,509
—seaesd 118,320+ 12452 592
—F5rd 78,8802 12522 4,102
—2 X 78,8802+ 1212 947
ORYEX SU(HAHRTIY 2&) 30,055
—Jlg= 78,8802 * 1243002 23,664
—seaesd 118,320+ 1248 947
—=54 78,8802 x 134 %5621 4,418
—g X 78,8801 *132 1,026
OFAEXITAL JI2HH QIR (HAEHRSFIOIT 22t)
27,091
—Jl=2 1,950,000 118 21,450
—RL22E 118,320 12 »5 592
—F5rd 78,8802+ 12522 4,102
== 78,8802« 112 947
201 L2 A 113,49% 106,336 7.160
01 AFRZH2IHI 42,266 35,106 7.160
OOMKIZAHOFZ 22| 3,370
-2 22 2 200,000 %12 2,400




2A:

WE==PSEh

Solod

HE: HAW S U PS(ASEX/ 0 - HAY)
&G HAdE 5§44
(CHol: M)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
— 3o N EEE 70,0002+7 2 490
—Se&H| JIzldl= 401 =2
40,000 128 480
OO0 EAEHOIEE 22|J Tl=H|
100,000 * 1H* 1=t 100
OFEAEISIOIE T2 29 S5
600,000+ 122 7,200
OHAHSSIOIEI(1, 223) A& 22l 26,69
—22|E8 7L 50,0002x10S+12 6,000
—EEZ2(2IEH) M
5002!%3,00001*23] 3,000
=&t =E 2 30,000+ =+ 124 1,800
—ZHEH =2l 200,000 *10CH 2,000
—3DoIL e A= gd01E
25,0004 %3CH* 123 900
—GSI2AA VODMHIA OlE22
113,000+ 12& 1,356
—EICIHYIA HAEH ZSH L AY 0=
60,000 *10CH 600
—&MD|otE 2t Y|
160,000 200 A% 12& 3,840
-8 |XI 22|
50,0002 %44 Ax 122 2,400
—ZHI0IXl RXIE=H|
150,000+ 122 1,800
—A&EEY 24|
250,000& 1002128 3,000
OFAELPAIL SEHOHEE 2
900,000 +55 4,500
OFAHLSBAIE 2T 242
400,000 * 1) A 13 400
02 3324l 71,230 71,230 0
OO0KIEAEHOIEE =8| 22ES
1,000, 0003 *33] 3,000
OOIKNEAEOIGE M=
600,000+ 122 7,200
OOKIEAEHOIGH S8 22ES
400,000 10 A 400
OOIKIEAE0IG & Ald2tel
3,000,000 * 100 A 3,000
OOMIEAEHOIGE 2elE8E(0x)] 8) &=H
200,000 *2H 400
OHAHSSIOIEI(1, 223) A& 22l 43,030
—&JIes 1,800,0002/ 122 21,600
—&otER3 60,000 %122 720
—QIgYIa 500,000 %12 6,000
—QIfHYIEA ZH|SXIHI
100,000+ 122 1,200




2A:

Ji=S<PNEn

Solod

HM: HAE A U BS(ASI=X/L0 - HAH)
©e: H3ad 4 (che]: X Sl)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
—520| ZHIRXIHI 180,000 x 122 2,160
—520| HIIZA 242
150,00024%13] 150
S a2 250,000 %20 A*23] 1,000
—==& Rl 600, 0002 * 122 7,200
— A& &HIRXIH] 3,000,000 14! 3,000
OFAESBHAIL AUEA 2
1,300,000 x2Z20 A 5,200
OFAESBAIL OHAEY 2A
1,500,000 *23] 3,000
OFALELHY Q4&HRIAE QA2 2H
500,000 % 12 6,000
206 XHEH] 2,000 9,200 AT,200
01 JH2H] 2,000 9,200 AT,200
OO M AEHOIEE 23242 2,000
—===4 1 10,000 +5 2 *5 = 250
—===Hlg 7 5,000 %50 250
—33 e 1,000,000 %14l 1,000
—ASUE 79 10,0004 *50H 500
301 LBtEXS 20,800 20,800
14 JDIEt2AS 20,800 20,800 0
OFAEHSBEAE T2 LAY
80,0002 *2A1 2t 1303 20,800
307 QI2H0| & 74,400 74,400 0
05 QIZIQES 74,400 74,400
OFAESHR 2% X 74,400
—AN&2FHI(&I], KF0H)
4,000,000 * 12 48,000
— Q12| 2,200,000+ 1% 122 26,400
401 AlEH| 22 0HH 126,000 170,000 A44,000
01 Al&H] 126,000 170,000 A44,000
OFAELBAA B S
12,000, 00024 34! 36,000
OO AEHOIHE TM =
20,000,000 * 14! 20,000
OFAELEANE D2 50,000
—NEIOIEE 2= 20,000,000 % 14! 20,000
—=A TELE W
30,000,000 * 14! 30,000
OOIKIBAHOIHE 2 +2SFHIZAt
10,000, 0002423 20,000
405 KHAHESH 3,900 14,970 A11,070
01 L SEFSH| 3,900 14,970 A11,070
OO FEAEHIEE 2% 28 72 2,900




SA: OlSEAED

Solod

Hu: AW S48 Y 2S(ASISK/ Q) - HAH)

ociod o = =] =
Hel FAE |4 CEREERD
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
—240013 & & 28D 2
1,600,000 % 1CH 1,600
—4TI0I0] 312 ME P
1,300,000 % 1CH 1,300
OFAaE4R MBI 7Y
1,000,000 % 1CH 1,000
Hrd 84 U ES 113,305 97,340 15,965
201 LB 15,955 7,540 8,415
01 Al22+2|H| 7,505 7,540 A35
OHAHEES EBE HZ 1,360
—&i40t 60,0002 +6H 360
—=E8=2 24 500=%1,00001*2= 1,000
OFAERMEH e 222
5002+ 1,0000H 500
OStnZHMIAEHOI5| 5o AR &g
100,000 * 128 %23 2,400
OFAEZS &3 U2 X2
5,50094 %590 3,245
03 BAL2H 8,450 0 8,450
OFAE XIRSAI L XHOISHIE SAHK 22T
8,450,000 % 14! 8,450
301 LBEAS 33,350 26,800 6,550
06 AFSLHHHAIHIXI 25,800 25,800 0
OFadRE2NE AE=Z2H =S
2,100,000 % 10IHTH 21,000
OFAERMNEZMS =2 2 ISR
200, 0002 *2IH EHI |+ 122 4,800
11 SAAHI X2 6,550 0 6,550
OFAE TRASAK L XISO0ISHIE! SAK 224D
6,550,000 % 14! 6,550
14 DBt A2 1,000 1,000 0
OFLERMEZ DX 2a2
1,000,000 % 14! 1,000
307 2I2tolA 64,000 63,000 1,000
02 DIZFHAIAIIE X 35,000 35,000 0
OstNZEA2ES 25t ZARM AZ 2H(BX8
=R 10,000,000 %14 10,000
OFMHSSH HAENF T2 (HEMUE
OISTZ20) X (BES HH)
15,000,000 %14 15,000
OFAH EQIE2 X (2EXS 80%)
12,500,000 * 1A41%80/ 100 10,000
04 DIZFHAIAIRIE X 9,000 8,000 1,000
OYZ=Al HAE JIQH(BXE 80%)
11,250,000 % 1A41%80/ 100 9,000
11 Al 2 XA E X 20,000 20,000 0




SN OFSHAED
o HAE S Y BS(ABIEX/L0 - HAE)
Hel FAE |4 CEREERD
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
OFAHNSEXAE AeZA 202 29
(BX8 FW) 3,000,000 14! 3,000
OFAHALSTNE SHEAS(H1]) 2
(BX8 HH) 4,000,000 * 14! 4,000
OFAHAL=TME AlBDI2SHUS 2
(2X8 FN) 5,000, 0008 14! 5,000
OZeIQEHAGSOlR| BT 2Y(BXS HH)
5,000,0002% 14! 5,000
OFAENSENME MLUUASAL 2H(2ES
FHoH) 3,000, 00024 %1 4! 3,000
EPNEE S R E = 14,000 14,000 0
307 SIZHOI® 14,000 14,000
04 DIZFHATAII B X 14,000 14,000 0
OHAHS|UHAEIH(BEE HH)
8,000, 0008 14! 8,000
OFAH 303 SPUSI(ZES FH)
6,000,0002% 14! 6,000
EPNER N 18,000 18,000 0
307 QI2HOI® 18,000 18,000 0
02 BIRIFAALEE 18,000 18,000
OYRE HAHU YA XAV Had
HESSHAH2ZES 90%)
20,000,0002!* 141%90/ 100 18,000
SPNEE=E AL 60,760 51,010 9,750
201 Yek2 | 25,680 22,280 3,400
03 A2 | 25,680 22,280 3,400
OFAESORR| B43AY X8
3,000,0002% 14! 3,000
OFAHESSOE HAH2ALIAS 998 S Nzl
2,000, 0008 %1 4! 2,000
OFAHSSIF "KHA=S0ILIHICI0! " HEHSY
3,000, 0008 %1 4! 3,000
OFAURS3E HAHSSZO 2
4,280,0002 14! 4,280
OFAUSSY NZEM(BLR|) T2 2%
10,000,0002%14] 10,000
OFAHZNWIIT? 2Y
2,100,0008*14! 2,100
OFAHLRAIL 2Y995 2
1,300, 00021 14! 1,300
301 YR A 22,080 18,730 3,350
11 BAFHIXIRS 14,240 10,890 3,350
OFAESIZAOILL, 25, WSS K ol
90,0002 * 1 *9U+23| 1,620
OFAE SHASBES FIIX Ot
90,00024%5%* 12 450




2A:

Ji=S<PNEn

Solod

MM HAE M U BS(AE=R/ L0 - HAH)
Sl HAE |4 (S 5 2)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
ORI 2 SR A7 IR ol
90,0002 *5H* 1 450
OFHER0| HIE(Z) EIIK 0]
50,0009+ 9 % * 1 450
OFEAHER0| SHHBHZ EIHK 04
90,0002%x202 1 1,800
OBEHLHANSTIASAKIHE] EIHXE 0]
90,0002 <20+ 1 1,800
OFAESSI01F 292215 =0t2| YA AlAL HIZ
8,000 60 *44] 1,920
OYFAl BAE SEC 2 AA U 2 JIB
8,000 *20H*103] 1,600
OYFAl HAE 2EBUAD|EICH 2 AAF L 244l
NI 8,000 *x20H*53] 800
OFAEAO0I| P ZH0IXE AAF L 2HAL BB
700,00084% 14! 700
OFALESHAIL 2HAVS| ZHOIXE AlAL
2L 2HAl HIS 700,000 % 14! 700
OFAESORRISHE 2123 ZHOIXH AAF L 204 HIB S
1,950,000 % 14! 1,950
14 DBt A2 7,840 7,840 0
OXAHRSI|Z HAHSS 22 2 &8 S
T2 LAY
40,0008 =2A1 27 B S+ 143] 7,840
307 2I2tolA 13,000 10,000 3,000
02 QIFAAAIRIE R 13,000 10,000 3,000
OFAE XYAIE AS T2 X (2XS FHH)
13,000,000 %14 13,000
HAEHSNIS0PLE0l BAEK MMM 3,600 3,600 0
301 LBEAS 3,600 3,600 0
02 ABIEEEAHS(FAAS, L) 3,600 0 3,600
OYUZ0IIE0I BAK HLMAH]
100,00024*3% 122 3,600
()AL HHNY 104,760 105,622 N: %
7l 53,760
Al 51,000
307 2I2tolA 104,760 105,622 AB62
7l 53,760
Al 51,000
10 AIBIS XA EHE2HHIE X 104,760 105,622 1862
OFAHHNY 29 104,760,000 14! 104,760
7l 53,760
Al 51,000
(2)stn & FH4d 1 140,018 137,203 2,815
7l 98,013
Al 42,005




SN OtsEAd
M HAE |4 L BES(MIEX/ L0 - HAH)
Sl HAE |4 (S 5 2)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
307 2I2+0| ™ 140,018 137,203 2,815
7l 98,013
Al 42,005
11 AMBISAIAMEE X 140,018 137,203 2,815
OstIZEE AW T” L & XY
140,018,000 14! 140,018
Jl 98,013
Al 42,005
(2)&t & AW ZAH X 10,920 8,736 2,184
Jl 5,460
Al 5,460
307 2I2+0| ™ 10,920 8,736 2,184
7l 5,460
Al 5,460
11 MBS XM 2 X 10,920 8,736 2,184
O3t 8 HAE SAH| N
10,920, 00024 14! 10,920
Jl 5,460
Al 5,460
(2)FAESENG Z2OHRSXH 95,352 94,264 1,088
7l 47,676
= 14,303
Al 33,373
307 2I2t01 ™ 95,352 94,264 1,088
Jl 47,676
& 14,303
Al 33,373
11 ARRISXIMEEES 95,352 94,264 1,088
OFAUESEG 223 29 X
95,352,000 * 19 A 95,352
Jl 47,676
& 14,303
Al 33,373
(2)EAFL NS00 2 (sSA0EE) 263,114 252,262 10,852
Il 97,057
< 29,117
Al 67,940
= 69,000
307 212t01™ 263,114 252,262 10,852
7l 97,057
= 29,117
Al 67,940
= 69,000
11 ARRISXIMEEES 263,114 252,262 10,852




OIS AT
C A |4 & 2SN/ e - Fad)
L HAd 84 (Chol: xi2l)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
OHAES U200l 2 (SA0ES)
194, 114,0002 *1JH A 194,114
7l 97,057
< 29,117
Al 67,940
OFAHY U200l Xer=2Esl N
900,000 *5CH* 122 54,000
= 54,000
OFEAELUZ0HHI0 4UES JI2RE=2
1,250,000~ 122 15,000
= 15,000
(2)FLEL NS00 2 (CH28HE) 173,910 165,682 8,228
Jl 86,955
= 26,086
Al 60,869
307 2I2t01 173,910 165,682 8,228
7l 86,955
= 26,086
Al 60,869
11 ARRISAIAMEELS 173,910 165,682 8,228
OFAEYUZ0IH0l 2 (TH=23HE)
173,910,00021%14] 173,910
Jl 86,955
= 26,086
Al 60,869
(2314 sl 15,571 13,000 2,571
Jl 10,900
Al 4,671
301 Et2dS 15,571 13,000 2,571
7l 10,900
Al 4,671
01 ALRIE2EE 4GS (S REXTHE) 15,571 13,000 2,571
O3ad SEXE A
15,571,000&x14] 15,571
Jl 10,900
Al 4,671
()L LHMIZEXA 74,591 70,208 4,383
= 37,296
< 11,189
Al 26,106
307 2I2+0| ™ 74,591 70,208 4,383
= 37,296
< 11,189
Al 26,106




M OISEAED
M HAE |4 L BES(MIEX/ L0 - HAH)
Sl HAE |4 (S 5 2)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
05 QIZIRIE = 74,591 70,208 4,383
ONMASEHdELE AYUESS X2
74,591,000& %14 74,591
= 37,296
< 11,189
Al 26,106
(EINZELHAGHEH 28X 198,000 170,000 28,000
& 28,000
Al 170,000
307 2I2+01 ™ 198,000 170,000 28,000
= 28,000
Al 170,000
10 ASISXAANEHE2EEIEX 198,000 170,000 28,000
OHAUAL=TIME 22 T2
198,000, 00021141 198,000
& 28,000
Al 170,000
(Z2)ELESSESEHS) 1,200 1,100 100
S 360
Al 840
307 2I2+0| ™ 1,200 1,100 100
= 360
Al 840
02 QIZHHAAIEE X 1,200 1,100 100
Osfu=s o & U 25 XA
1,200,000 14 1,200
= 360
Al 840
(E)HIERen X 25,000 25,000 0
& 7,500
Al 17,500
307 2I2+0| ™ 25,000 25,000 0
= 7,500
Al 17,500
02 QIZHHAAIEE X 25,000 25,000 0
OoF4ddIgnsu =29
25,000,000 * 14| 25,000
= 7,500
Al 17,500
(D)L AHMRIEERNZSI 2L 3,670 5,470 21,800
& 1,101
Al 2,569
201 Let23| 3,670 5,470 21,800

H

1,101




SAM: OtsEAEL
q

M HAE R4 U FS(AFE/L0 - HAY)
telr AW |4 (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
Al 2,569
01 Al 22| 3,670 5,470 A 1,800
OOlaEAE M2IBE 79
917,500 *4=| 3,670
& 1,101
Al 2,569
(Z)20244 BAEE HIAEIS 80,000 0 80,000
= 30,000
Al 50,000
307 212t01& 80,000 0 80,000
= 30,000
Al 50,000
04 DIZFAAI E X 80,000 0 80,000
OASHAWHAEY 29 T2
80,000, 0002+ 14! 80,000
& 30,000
Al 50,000
HAESORIXIJ (KLLABUHSIIB) 16,800 0 16,800
CH 16,800
307 212t01™ 16,800 0 16,800
CH 16,800
11 AISIS XA E S 16,800 0 16,800
OFAH Soi2] XNA(BEXE 3H)
800,000& #2172 16,800
CH 16,800
HAEOSY0IE X(RLLAEUHSIIB) 20,000 0 20,000
CH 20,000
307 212t01™ 20,000 0 20,000
CH 20,000
11 AISIS XA E S 20,000 0 20,000
OFAH H220tY 29 X2 (BEx28 FY)
20,000,000 *14] 20,000
CH 20,000
HAY2HAYI(OFSHEAHE D) (DIEHJIED 633,917 597,686 36,231
i 166,809
| 12,684
= 24,179
Al 305,779
= 124,466
I 2| 528,041 495,278 32,763
s 166,809
| 12,684
= 24,179
Al 199,903




2A: OtSEAEY
MM MY SHAH|(OFSHAED) (JIEHIIE
£el: elsE23| (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
= 124,466
olz 2| 130,803 120,137 10,666
101 Q124H] 130,803 120,137 10,666
02 JIERIE 2 59,900 51,194 8,706
OFAHSSIOE HAEKX T AHAIZHSEHI D] R
0r3) 59,900
—Jlg= 3,000,000 %12 128 36,000
—A22224Y
9,620R1*20 Al 22 * 122 4,618
—JIE2E(UHSXL)
40,0002% 1128 480
— g AlY| 140, 0002 x>« 122 3,360
— QL2 A
3,000, 0002 *84%+86%+ 1/30% 1/7+84n*2H 1,734
—SsAesg 18,0402 x2* 128 2,833
—Heis 300,000 x2Z*12& 7,200
—ZZEXH|
175,00024%35/40n*2 & * 12 3,675
03 SR(RIHL) 22 L4 70,903 65,688 5,215
OOIXIE HAEOIAE 22 Y B2 70,903
—Jl=2 2,640,570+ 18122 31,687
—d2=E 2,640,570 %50%+ 12 *23 2,641
—A2H22ReE
16,4202 % 150%+ 15 A 2Hx 12 128 4,434
—§42244
131,320 2% 150%+ 124+ 1162 22,850
=SS (HHRX)
40,0002% 1128 480
—Z Mg AlY| 140,000 %1 H* 122 1,680
—HEFIHI 2,640,570 %75%+ 1 #2353 3,961
—oIXR3SISE
131,320 % 12152 1,970
—nEEXH| 100,000 *1H* 128 1,200
(2)HAEXICAL HHXIXIR 25,368 24,408 960
7l 12,684
Al 12,684
101 Q124H] 25,368 24,408 960
7l 12,684
Al 12,684
02 JIEHEIE 2 25,368 24,408 %0
OFAH25101T HAEXITAL 23 HHX
25,368,000 x 14! 25,368
7l 12,684
Al 12,684
ENEEEREITEE 42,331 40,413 1,918




A OFSEAEDL
Ha: HHSAHAH|(OISEAEN) (IIEHIIE
£el: elsE23| (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
a 26,704
[ 2,003
Al 4,673
= 8,951
101 o1AH] 42,331 40,413 1,918
a 26,704
[ 2,003
Al 4,673
= 8,951
02 JIEFEI &% 42,331 38,785 3,546
SISl =k 40,447
—os 30,312,0002% 1% 30,312
a 24,250
[ 1,819
Al 4,243
—AZ2tRI2REY 2,368,000 %14l 2,368
a U7
[ 71
Al 166
= 1,184
—IJIESL (B
40,0002+ 12128 480
= 480
—ZMZAlY| 140,000+ 1S+ 12 1,680
= 1,680
— It A 59,90021%12* 122 719
= 719
—S+A2E 119,410 %1122 1,433
= 1,433
—SHIANHS 287,870« 12128 3,455
= 3,455
OAZEZH| 156,950 %1 T+ 122 1,884
= 1,507
[ 113
Al 264
(2)XACSAEIE SEARIZRIXY QI 146,706 133,776 12,930
= 88,248
[ 6,619
Al 15,443
= 36,39
101 Q14| 128,706 124,416 4,290
a 73,848
[ 5,539




2A: OtsEAED
A HH2HZH|(OrSEAE D) (DIEHIIE
el OIS E2g| CEREERD
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
Al 12,923
= 36,396
03 SR (RINHY) 22 RE= 128,706 124,416 4,290
OOtSSE AtdIZ2|AL Q12|
82,279,000 * 14 82,279
s 64,800
[ 4,860
Al 11,340
=S 1,279
0328 2,285,520 R *508*3 % *23] 6,857
=S 6,857
OAlIZIeI 2R 11,634,000 % 14! 11,634
= 7,128
[ 535
Al 1,247
= 2,724
ONEL (IR 40,0002 +2% % 122 960
=S 960
ON=E2<(J1EH 20,000+ * 122 480
=S 480
OF A= A| 140,000 x3% 122 5,040
= 5,040
OZESIHI 2,285 5202 x75%x 32 #23] 10,285
= 10,285
Odxtsas=g
114,890 x3H* 152! 5,171
= 5,171
OuE2LH| 100,000 *3%H 12 3,600
=S 3,600
OFHY|EE 200,000 %13+ 12 2,400
s 1,920
& 144
Al 336
304 ASRE3S 18,000 9,360 8,640
s 14,400
& 1,080
Al 2,520
04 SRA(IHS) 22X BE28E2 S 18,000 0 18,000
OOtSSEAtAIZEIAL F1HZ 22
140,000 x3H+ 122 5,040
s 4,032
& 302
Al 706




2AM:
T ZH -
o /e

cH):

I8 02 o

H0 MO 0z

L=

< i
o
O
0z
IS
m
[

H(D1EHJIEH

ro (g o
08 02 >
=0V i

o I inE=Et

S - BB CQ(B]H) - HIBAN - BAS Oll & Oil &boH

o

OOIS S AIZCIA AL DS =g
140,000 %3+ 122 5,040

4,082
302
706
SLEEEEE 220,000 2+3%* 122 7,920
6.336
476
1,108

Mo = H A

=

(2)0ts=s XA IHA XA (01=2) 139, 175 139,149 26
37,072
1,122
25,950
65,031

Mo

=

4

101 2244 139,175 139,149 26
37,072
1,122
25,950
65,031

SRR

=

4

02 JIEtE &= 139,175 131,149 8,026
OOtS=E2X WA IHA X

104,204,000& * 14 104,204
37,072
11,122
25,950
30,060
ONZ2xH| 6,570,00024*14! 6.5/0
6,570
OFAHZAH| 140,000 x5+ 122 8,400
8,400
O=E=g 76,000 x5% 128 4,560
4,560
OS2 4| 38,820 %53 % 132! 2,524
2,524
OExA2Y 116,680 x5« 122 7,001
7,001
OAIZtl=&t 9,860 *10A| 2H+5 X x 12 5,916
5,916

Mo

=

T

44

44

(2)0t== XA IHA XA (S35 43,658 37,395 6,263
14,785
4,435
10,350
14,088

SRR

=

W




SA: OlEEAED
. HY2IAU|(OtSHEAE) (IIEHIIE
el OIS E2g| CEREERD
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
101 el44| 37,758 24,000 13,758
= 11,835
& 3,550
Al 8,285
= 14,088
03 SR (RINHY) 22 RE= 37,758 24,000 13,758
OOIS=X WA T2 X2
27,174,000 % 14| 27,174
= 11,835
= 3,550
Al 8,285
= 3,504
OgE=IHl Xia 3,390,0002*14! 3,390
= 3,390
OF A= A| 140,000 %1 H* 122 1,680
= 1,680
@p)="Ea=; 40,0002+ 1% 12¢ 480
= 480
OS2 4| 1,800,000 %1 A! 1,800
= 1,800
Ous2xy| 100, 00024+ 12 * 122 1,200
= 1,200
OF24Y 2,259, 1402 *45%+23)| 2,034
= 2,034
304 ASRE3S 5,900 13,395 AT,495
= 2,950
& 885
Al 2,065
04 SRA(IHS) 22X BE28E2 S 5,900 13,395 AT,495
Oots=XnA B8g 292 S
5,900,000 14 5,900
= 2,950
& 885
Al 2,065
Jl2&Z| 105,876 102,408 3,468
J|12&| 105,876 102,408 3,468
201 etz 3F| 28,536 25,728 2,808
01 At22t2ld| 28,536 25,728 2,808
O=AEX 7L 20,0002 %188t A% 102 4,320
OSZ20iAY| 8,000 *7Alx 18+ 122 12,096
@] S 100,000 * 122 1,200
OLA2 TAZLLI 50,000 %122 600
OA7E =4l 8,160




SA: OlSHEAED
MM MY SHAH|(OFSHAED) (JIEHIIE
J|23H|
S - FH - B9I(E) - HEAY - B e
—SADI(HE) el 1,000,00024* 1 CH 1,000
—I2IE g 100, 0002 *4CH*50/100 200
—=2AM] EY 200,000 %53 1CH 1,000
—IRIE(5) EY
200,000 %53 =4 CH 4,000
—IRIE(Zeh) &Y
200,000 %53+ 1CH 1,000
—PC=cl 100,000 % 18CH*20/ 100 360
—J|Et4=2lt] 50,0002* 122 600
OJIEF AFR2t2IH] 10,000+ 18 * 12 2,160
202 Ot 71,280 71,280
01 2LH0IH 71,280 71,280
O OIHI 20,00021% 18 * 122 * 122 51,840
@] 120,00024* 1892 19,440
203 LREZXIH| 4,860 4,200
04 BA2AARETIH| 4,860 4,200
ORNSZHRFEH| 405,0002*12& 4,860
204 Z 24| 1,200 1,200
01 ZUZ AR AH| 1,200 1,200
ORI AL AH| (OIS E A EH DA
100,000+ 18122 1,200




